il
W
St
%
I

1. THE4
THE4 JIUPIHAE S - E 2 0> 1 T3
T4 JEE VR VR L ARV K T AR 5 it
2. THEHNE
1)  HEI4 JUPRNRN =BT TSR
2) £ I & | T
3) T Eiij] 144 H [ H %0 64107 8H
= SFn T 2H28H
4) TEyE

ELAma  JuN TR )R




Vvl = =
FEENFRE s
T4 | JIPIEAE IXREZ oo 1 T8
TSy « TfE - FER B {7 ¥ & & # A bl A iR
FLLt - =X 1 27, 881, 140
LT = 1 20, 722, 725
HRHEI T = 1 811,720 |#EH! 2,200 m3
THp A7 iy L EEME 5, 000m3LL 10,
000m3 AT ;
A 600 m3
(F1)
Twp A7 iy HE EEM 5, 000m38L 10,
000m3KTi t=15cm ;
PEHI L (ICT) = 1 1,057,560 |HEHI(ICT) 2,200 m3
/Y -7 iy BEEMEL 5, 000m3LL 110, 000m3
A
HEHEI (ICT) 600 m3
(F1)
/Y -7 iy BEEMEL 5, 000m3LL 110, 000m3
R t=16cm ;
BT T (ICT) = 1 44,965 | IEmEFETR (B)1356) (ICT) 50 m2
VB = W R OB = CRE L
P v T = 1 18, 808, 480 | Kt 5, 500 m3
B2 A couE
b E 5,490 m3
+w (72) ;
LR L 2 1 124, 650
fiA T 2 1 124,650 |9E% 50 m2
B2 T 100m2ATH ;
% T = 1 7,033, 765
THEHER T = 1 294,050 | T3 HE KK 1 =X
T HE RS 1 =X
be il 1 =
RC-40 ¥JE 100mm ;

-1- E ta2@d Ui




== /oA = =
FEAENGRE e
T4 | JIUPNJIEAE AR 2o 1 T35
TEHX4y « Tfd - FER B Az W B & #A i il R
LeZalE €N 1 F2V
o5 B Sk} 3K T = 1 908, 795 | MY 1 F2V
PAYPEV S 1 F2V
VB 1R T = 1 5,321,600 |{5i#EF; 17202 1 =,
BRI
VE VR 1L 7« Al R 1 =
FEDOH
VYRR 1k 722 1 Y
BRE -
AEEHE T Y 1 509, 320 | AZ Wk B g B 1 =
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BISTIGE: = 1 967, 150
HeffrE sy = 1 614, 150 |{R5F&EH (ICT) 1 =
YATLRIE 2 (ICT) 1 F2
BGRESGESE (5 L) = 1 353, 000
B (FEHL) = 1 2,693, 000
T = 1 31, 541, 290
Bl gy 2 1 10, 711, 000
T =5l = 1 42, 252, 290
— R A 2 1 8,027, 710
TS 2 1 50, 280, 000
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